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UIL ACCOUNTING
Invitational 2010-B

Group 1
Determine the unknown amount in each of the following independent situations.  The amounts in the Beginning and Ending Balance columns represent normal balances.  Answer questions 1 through 3 by writing the correct amount on your answer sheet.  Indicate a net loss by using brackets or parentheses.

	Account
	Beginning

Balance
	Ending

Balance
	Other Information

	Accounts Payable
	72,841
	69,811
	Paid on account $90,244

	Prepaid Insurance
	6,280
	7,150
	Premiums paid during the period $14,810

	Owner’s Capital
	94,810
	96,745
	Owner’s withdrawals $15,000

Owner’s investments $3,800


1. What amount was purchased on account from vendors during the period?

*2. What was the amount of net income or net loss for the period?

3. What amount of insurance premiums expired during the period?

Group 2

The following information comes from the accounting records of two separate businesses.










 



  Bear Co.

  Bull Co.

December 31, 2008:


Assets……………………………………………….
   $18,462

   $24,865


Liabilities…………………………………………….      6,987

       5,291

December 31, 2009:


Assets……………………………………………….
     16,291

     47,863


Liabilities……………………………………………       8,395


   ?

During 2009:


Owner Investments…………………………………     2,500

       8,000


Net Income (Loss)………………………………….    <3,079> 
     24,049


Owner Withdrawals…………………………………          ?

     10,000

Answer questions 4 through 8 by writing the correct amount on your answer sheet.  

Use the information for Bear Co. to answer questions 4 through 6.
4. What is the amount of owner’s equity on January 1, 2009?

5. What is the amount of owner withdrawals for 2009? (do not use brackets on your 
  

answer sheet)
6. What is the amount of owner’s equity on December 31, 2009 on the post-closing


trial balance?
Use the information for Bull Co. to answer questions 7 and 8.
* 7.  By what amount did liabilities increase or decrease during 2009?


(use brackets on your answer sheet to indicate a decrease)
* 8. What is the amount of owner’s capital in the balance sheet column of the work sheet 


for the year ended December 31, 2009?

Group 3

The owner of a small sole proprietorship uses three financial statements at the end of each month.  These are the balance sheet, income statement, and statement of changes in owner’s equity.  The owner’s equity section of the balance sheet only shows the ending capital amount.  The income statement includes a detailed section for cost of merchandise sold.

For items 9 through 16, indicate on which financial statement(s) the item will appear.  Write the identifying letter of the correct response on your answer sheet.

A. Balance Sheet only

B. Income Statement only

C. Statement of Changes in Owner’s Equity only

D. Balance Sheet and Statement of Changes in Owner’s Equity

E. Income Statement and Statement of Changes in Owner’s Equity

F. Balance Sheet and Income Statement

  9. Ending merchandise inventory



14. Total liabilities




10. Net loss









15. Owner withdrawals
11. Beginning balance of capital




16. Cost of merchandise sold
12. Ending balance of capital


13. Investments made by owner during the fiscal period

Group 4

For each account title in questions 17 through 26, write the identifying letter of the correct response (A, B, or C) which indicates whether each account should be closed and where, or if it should not be closed at all.  Consider that each account has a normal balance.  If the account is to be closed, indicate whether that account is closed with a debit or a credit.  Use the following sets of codes.  An answer might appear in this way:
B  DR





A. closed into Income Summary


DR=debit





B. closed into the capital account


CR=credit





C. not closed

17. Purchases

18. Sales

19. Accounts Receivable

20. Mattie Sarcosi, Drawing

21. Payroll Tax Expense

22. Sales Discounts

23. Mattie Sarcosi, Capital

24. Transportation In

25. Medicare Tax Payable

*26.  Income Summary (when beginning inventory was $6,800; ending inventory was 

       
$6,500; net income was $260.)  (Revenues, merchandise costs, and expenses 


    
have already been closed.)

Group 5

Determine when each of the following items 27 through 36 would be journalized with the salary expense entry, or the payroll tax expense entry, or both.  Write the correct identifying letter on your answer sheet using the following code:

	A
	with the salary expense entry only

	B
	with the payroll tax expense entry only

	C
	with both the salary expense entry and the payroll tax expense entry


27. payroll tax expense for the period

28. gross earnings for the period

29. Social Security taxes

30. health insurance premiums paid by employees

31. Union Dues Payable

32. employees’ federal income taxes

33. state unemployment taxes (in this state employees are exempt)

34. net pay for the period

35. Medicare taxes

36. federal unemployment taxes (in this state employees are exempt)

Group 6

The balance in the Supplies account on January 1 was $944.  During the year supplies were purchased as follows:  $1,465, $3,805, $2,948, and $917.  A physical inventory taken on December 31 totaled $1,016.

Use the information above to answer questions 37 through 40.  Write the identifying letter of the best response on your answer sheet.

37. What amount should appear in the work sheet’s unadjusted trial balance column for 


the account called Supplies?


A. zero


C. $1,016

E. $9,135

G. $10,079


B. $944


D. $9,063

F. $9,207

H. $11,095
38. What amount should appear in the work sheet’s unadjusted trial balance column for 


the account called Supplies Expense?


A. zero


C. $1,016

E. $9,135

G. $10,079


B. $944


D. $9,063

F. $9,207

H. $11,095
 *39. What amount should appear in the work sheet’s adjustment columns to indicate the


supplies usage for the period?


A. zero


C. $1,016

E. $9,135

G. $10,079


B. $944


D. $9,063

F. $9,207

H. $11,095
40. What amount should appear in the work sheet’s balance sheet column for the 


account called Supplies?


A. zero


C. $1,016

E. $9,135

G. $10,079


B. $944


D. $9,063

F. $9,207

H. $11,095
Group 7

Reconcile the bank statement using the following T-account form.  (The form will not be reviewed by graders.)  Then answer questions 41 and 42.

	Margo’s Jewelry

	Bank Reconciliation

	December 31, 2009

	Bank Statement Balance, 12/29
	
	Checkbook Balance, 12/31
	

	Add: 
	
	Add:
	

	
	
	
	

	Deduct:
	
	Deduct:
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


On December 31, Margo received the company bank statement dated Dec. 29 and reviewed it along with other accounting records and found the following facts:

   1. The ending bank balance was $9,441.29
   2. The checkbook balance on Dec. 31 before reconciliation was $14,109.39
   3. The following checks were written in November, were outstanding in November, 

       and still did not appear on this bank statement:


   

check #4077…$143.98

check #4085…$1,142.63
   4. The following checks were written in December and did not appear on this bank

        statement:
check #5055…$3,492.27

check #5058…$336.84




check #5056…$5,649.87

check #5060…$149.42

   5. The bank charged $32.50 for the month’s service charge

   6. A check in the amount of $1,600 from Ima Goodforit that Margo deposited on Dec. 20 was
       returned by the bank for insufficient funds.  The bank charged Margo’s account $25 for 
       handling the NSF check.  No journal entry has been made yet by Margo for the NSF check

or its related fee.  

   7. A deposit of $17,921.42 made on Dec. 31 does not appear on the bank statement.

   8. A check Margo wrote in early December for $4,505 made out to Zewels Company was lost

in the mail and never found.  Margo requested a stop payment order, which cost $22.50

and was issued by Margo’s bank on Dec. 29.  Margo needs to record this fee and the


voided check in the checkbook.  She plans to write a replacement check on Jan. 2.
   9. Margo’s review of the bank statement reminded her that she had used the debit card

       on this account to make a $44 payment at the post office and forgot to record it in

       the company checkbook.

10.  Margo became concerned about her memory when the bank statement revealed an
       electronic funds transfer to a vendor for $442.69 that she forgot to record in the 

       company checkbook.

For questions 41 and 42 write the correct amount on your answer sheet.

41. What is the total of the deductions listed on the checkbook side of the T account

      form?

***42. What is the reconciled bank balance as of December 31, 2009?

Group 8

Three customers owed a total of $1,415 to a business called Game City as of December 31, 2008.  On January 31, 2009 the balance of Game City’s controlling account for Accounts Receivable had decreased by $274 since the beginning of the month.

From Game City’s

General Ledger:                           Accounts Receivable
	(1-1-09)               
	

	
	

	(Jan 2009)  __________
	________    (Jan 2009)

	
	

	(1-31-09)             
	

	
	


Game City’s Accounts Receivable Subsidiary Ledger:



Judy Skipbo





Debit
      Credit          Balance

	1-1-09
	
	
	845

	Jan 2009
	
	1,600
	




Daniel Uno






Debit           Credit          Balance

	1-1-09
	
	
	

	Jan 2009
	375
	134
	




Brandy Gofish





Debit
       Credit
        Balance

	1-1-09
	
	
	360

	Jan 2009
	
	402
	605


For questions 43 through 45 write the correct amount on your answer sheet.

43. What is the total amount of charges made by all three customers in January?

* 44. What is the balance of the Judy Skipbo account on 1-31-09?

* 45. What is the balance of the Daniel Uno account on 1-31-09?

Group 9

Answer questions 46 through 56 (shown in the corrected trial balance columns) and question 57 (at the bottom of this page) by writing the correct amount on your answer sheet.

An examination of the journals and ledger revealed the following errors in the trial balance below:

1. A customer’s sale on account for $60 plus sales tax of $5 was recorded as follows:  

   credit $60 to Sales; credit $5 to Sales Tax Payable; and debit Accounts Payable $65.

2. A $324 collection of an account receivable was journalized as $342. 

3. When the new insurance policy was purchased by check for $2,820, the debit was made to

     Insurance Expense instead of the prepaid expense account.

4. A new piece of equipment was purchased on account with a debit to Office Supplies and a 

    credit to Accounts Payable for $15,000.

5. A $425 payment of an account payable was recorded with a credit to Cash in Bank for $425 and 

    a credit to Accounts Payable for $452.

6. Sales on account for $909 plus sales tax of $75 was recorded correctly except the credit to 

    Sales was only $90.

7. An investment made by the owner was debited to Cash for $12,000 correctly, but the credit was 

    not posted.

8. All purchases of merchandise for the year had been debited incorrectly to Merchandise

     Inventory.  The beginning inventory was $24,500.

9. The bookkeeper had transposed the Sales Tax Payable balance when writing it in the Trial 

    Balance column of the work sheet.  The balance should be written $573.

10. A $500 payment to a creditor on account was debited to Accounts Receivable and credited to 

      Cash in Bank.

11. An owner’s withdrawal of cash for $825 was credited correctly but was debited to the capital 

      account.

12. In order to get the trial balance to balance, the bookkeeper “plugged” the difference into 

      Income Summary.

	
	Trial

 Balance
	
	Corrected Trial Balance

	Account
	Debit
	Credit
	
	Debit
	Credit

	Cash in Bank
	16,312
	
	
	#46
	

	Accounts Receivable
	11,301
	
	
	#47
	

	Merchandise Inventory
	71,070
	
	
	#48
	

	Prepaid Insurance
	900
	
	
	
	

	Office Supplies
	20,485
	
	
	#49
	

	Equipment
	50,000
	
	
	#50
	

	Accounts Payable
	
	29,307
	
	
	#51

	Sales Tax Payable
	
	537
	
	
	#52

	Jed Snapitt, Capital
	
	68,100
	
	
	#53

	Jed Snapitt, Drawing
	4,000
	
	
	#54
	

	Income Summary
	
	11,978
	
	
	

	Sales
	
	81,891
	
	
	#55

	Purchases
	
	
	
	
	

	Office Supplies Expense
	
	
	
	
	

	Insurance Expense
	2,820
	
	
	#56
	

	Various Expenses (combined for simplicity)
	14,925
	
	
	
	

	
	191,813
	191,813
	
	
	


***57. After all corrections have been made, what is the balancing total of the corrected


Trial Balance?

Group 10

Match the correct formula (choices A through P) to the term below.  Consider each term and formula as it applies to a merchandising business.
	A
	Beginning Inventory less Ending Inventory

	B
	Beginning Inventory plus Net Purchases

	C
	Beginning Inventory plus Cost of Merchandise Sold

	D
	Cost of Delivered Merchandise less the contra cost of merchandise accounts

	E
	Cost of Delivered Merchandise plus the contra cost of merchandise accounts

	F
	Cost of Merchandise Available less Ending Inventory

	G
	Cost of Merchandise Available plus Ending Inventory

	H
	Gross Profit on Sales less Total Expenses

	I
	Net Purchases plus Transportation In

	J
	Net Sales less Total Expenses

	K
	Net Sales less Cost of Merchandise Sold

	L
	Net Sales plus Cost of Merchandise Sold

	M
	Purchases plus Transportation In

	N
	Purchases plus Transportation In plus Purchases Discounts plus Purchases Returns and Allowances

	O
	Sales less Sales Discounts and Sales Returns and Allowances

	P
	Sales plus Transportation In


For terms 58 through 64, write on your answer sheet the identifying letter of the correct formula.
58. Cost of Delivered Merchandise


62. Net Income

59. Cost of Merchandise Available


63. Net Purchases

60. Cost of Merchandise Sold



64. Net Sales

61. Gross Profit on Sales

Group 11

Refer to Table 1 on page 10.  In the month of March 2009, Guy Montag worked the standard number of hours each day and was responsible for generating $96,200 in book sales.

For questions 65 through 75, write the identifying letter of the best response on your answer sheet.
65.  What are Guy’s total gross earnings for March?


A. $962          B. $2,093          C. $3,055          D. $9,325          E. $11,713

66.  Total gross earnings are _?_ to an account called _?_.


A. debited    /    Payroll Tax Expense


B. credited    /    Payroll Tax Expense


C. debited    /    Salary Expense


D. credited    /    Salaries Expense

Group 11 continued

67.  Details about each employee’s paycheck for one specific pay period are first 


recorded on (or in) the


A. Form W-4

D. Form 941


B. Form W-2

E. Employee Earnings Record


C. Payroll Register

* 68. What is the amount withheld from Guy’s March gross pay for social security tax?


A. $44.30

D. $169.26


B. $59.64

E. $189.41


C. $129.77

F. $233.71

69. The amount of social security tax withheld from Guy’s pay would be _?_ to the 


account called _?_.


A. credited    /    Cash in Bank


B. debited    /    Salary Expense


C. debited    /    Social Security Tax Payable


D. credited    /    Social Security Tax Payable

* 70.  What is the amount withheld from Guy’s March gross pay for Medicare tax?


A. $10.59

D. $44.30


B. $13.95

E. $59.64


C. $30.35

F. $189.41

* 71.  What is the amount withheld from Guy’s March gross pay for state unemployment 


tax?


A. zero


D. $35.58


B. $12.41

E. $46.41


C. $16.35

F. $51.94

72. The employee’s year-to-date gross earnings or the employee’s gross earnings from 


the beginning of the year through the end of each pay period is called


A. accrued earnings


C. built-up pay


B. accumulated earnings
D. earnings amassed to-date

* 73.  What is the amount of the employer’s liability for federal unemployment tax (in 


regards to Guy’s March payroll information)?


A. zero


D. $21.84


B. $5.84

E. $24.44


C. $16.74

F. $46.41

*** 74.  What is the amount that is debited to Payroll Tax Expense (in regards to Guy’s

       March payroll information)?


A. $201.53

D. $291.49


B. $233.71

E. $304.56


C. $285.96

F. $310.09

Group 11 continued

75. If Guy achieves the top book sales award and earns $125,000 in gross earnings for


the year 2009, what would be the amount of the employer’s payroll tax expense for


the social security tax portion only? 


A. zero



D. $6,621.60


B. $1,548.60

E. $7,750.00


C. $1,812.50

F. $8,170.20

Group 12

Various account titles from the work sheet of a profitable service business (under normal circumstances) are listed below with identifying letters.  In questions 76 through 80, identify which account would reflect each condition given across the work sheet.  Write the identifying letter on your answer sheet.

	A
	Accounts Receivable
	
	D
	Income Summary

	B
	Bill Mayer, Capital
	
	E
	Insurance Expense

	C
	Fees Earned
	
	F
	Prepaid Insurance




Trial






     Income 


    Balance

    
     Balance

   Adjustments
         Statement

      Sheet
76. 

N/A

    
   debit amount
       debit balance

        N/A

77. 

N/A



   N/A



  N/A


        N/A

78. 
debit balance
    
   N/A


   
  N/A


debit balance 

79. 
debit balance
   credit amount

   
  N/A

   
 debit balance

80. 
credit balance

   N/A


   
  N/A


credit balance     

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director asks for them.  Thank you.
Table 1
(for questions 65 through 75)

Faber Publishing Co. has the following payroll policies and other information:

	Adjusting entries
	Monthly

	Closing entries
	only at end of fiscal year, December 31

	Payroll Period
	Monthly

	Standard Work Week
	40 hours per week

	Overtime Pay
	Time and a half for hours over standard

	Social Security Rate
(employer and employee)
	6.2% on gross earnings up to $106,800 per employee

	Medicare Rate
	1.45% on all gross wages

	Employee Federal Income Tax
	Disregard

	FUTA (federal unemployment tax)

  (employees exempt in this state)
	.8% on first $7,000 gross earnings per employee

	SUTA (state unemployment tax)

  (employees exempt in this state)
	1.7 % on first $9,000 gross earnings per employee

	Guy Montag’s standard rate of pay
	Monthly Salary of $2,093 as base plus

1% sales commission

	Guy Montag’s Gross Earnings from

  January 1 through February 28, 2009
	$6,270


